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CHECK-UP p.8
A 00© 10 20© 3®
E 0 is going to start 1 is staying
2 will be 3 were painting
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EXERCISE p.10

A 0 tomorrow
2 every day
4 this evening
6 at that time
8 now
10 tomorrow
12 yesterday
14 someday

16 every morning

1 now

3 last week

5 in 2010

7 every Saturday
9 then

11 always

13 at the moment
15 this afternoon
17 then

B o®© 10 2 ® 30

4 © 5@ 6 © 70
8 ® 9 ® 10 @
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Comparatives, Superlatives

Lesson 1 ® Comparatives (1) 522 ()

pp.15.17

POINT CHECK
A 0 bigger, & 2 1 cheaper, G #
2 longer, £ 71 3 shorter, Cf &2
4 heavier, Gl 712 5 slower, O =2I
6 smaller, o &2 7 thicker, Gl F7H&
8 older, O LIO| B2 9 weaker, O 2fst
E 0 -er, weaker 1 -er, stronger 2 -er, cleaner
3 -er, darker 4 -r, cuter 5 -ter, fatter
6 -er,smarter 7 -ner, thinner 8 -ier, busier
9 -ger, bigger 10 -ier, noisier 11 -ier, funnier
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0 older than
3 hotter than

1 cheaper than 2 softer than
4 faster than 5 nicer than
6 smaller than 7 sweeter than 8 shorter than

9 longerthan 10 earlier than
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p.18

0 richer 1 wiser 2 happier 3 lighter

4 nearer 5 luckier 6 younger 7 lower

8 cheaper 9 nicer 10 easier 11 fresher
*STEP 1-

0-1 hotter
4 smaller

8 shorter

1 brighter 2 cuter 3 deeper

5 wider 6 louder 7 funnier

9 lighter

* STEP 2

0-2 wiser, than 10 stronger, than
11 richer, than 12 busier, than
14 newer, than

16 taller, than

13 weaker, than
15 higher, than
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p. 20

0 colder 1 heavier 2 greener 3 messier

4 older 5 larger 6 prettier
0 are, faster, than

2 s, dirtier, than 3

1 are, nicer, than
are, softer, than

4 s, taller, than

3 darker
7 fatter

0 quieter 1 heavier 2 colder

4 harder 5 bigger 6 quicker

0 feels, happier, than 1 are, hotter, than
2 is, higher, than 3 looks, fresher, than

4 is, easier, than
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p. 22

was noisier than the house
are smaller than rabbits
has longer hair than Nicole

runs faster than the bicycle

A W M = O

barked louder than his dog

The sun is brighter than the full moon
The watermelon is bigger than the melon
Koalas are lazier than monkeys

She became poorer than before

S WO N = O

These brown pants are shorter than those green
pants

deeper than that lake
warmer than yesterday
smarter than dogs
earlier than James

lower than this building

a A WO N = O

sweeter than my coffee

Grammar in Use

calmer than, cleaner than, nicer than, happier than
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Lesson 2 @ Comparatives (2) c/u2 (2)
pp. 25, 27

0 more serious 1 more important

2 more quickly 3 more useful

4 more diligent 5 more careful

6 more comfortable 7 more excellent

8 more exciting 9 more dangerous

0 more easily 1 louder

2 more difficult 3 harder

4 more deliciously 5 more beautiful

(VN©) 10 2O 33

0 better 1 worse 2 more 3 better

4 more 5 less 6 better 7 worse

0 more 1 better 2 less 3 worse
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p. 28
0 more beautiful 1 more carefully
2 less 3 more important
4 more exciting 5 more interesting
6 more famous 7 more
8 more slowly 9 more delicious
10 more quickly 11 worse
12 better 13 more surprising
14 more dangerous 15 more
*STEP 1
0-1 more, interesting 1 more, difficult
2 more, important 3 more, delicious
4 more, slowly 5 more, famous
6 better 7 worse
* STEP 2
0-2 better, than 8 less, than
9 more, useful, than 10 more, carefully, than
11 more, easily, than 12 more, dangerous, than
13 more, than 14 more, expensive, than
0 more quickly 1 less
2 better 3 more
4 colder 5 careful
6 more popular 7 longer
8 worse 9 me
*STEP 1°
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more, expensive, than / cheaper, than
more, quickly, than / more, slowly, than

less, than / more, than

W N = O

more, difficult, than / easier, than

p. 30

is, more, famous, than
looks, more, difficult, than
play, more, often, than
runs, more, slowly, than

are, more, boring, than

a A WO N = O

is, more, serious, than

Lesson 1 ~ Lesson 2| 005
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p. 32

is more exciting than the last game
is more dangerous than the last one
more easily than adults

choose better vegetables than |

A WO N = O

sleeps more than my baby

became more beautiful than before
is more intelligent than his son
looks more comfortable than that one

travels more slowly than light

A O M = O

have less homework than them

@] 10
X, less 3 x,than
x , better 5 x, worse

X, more exciting 7 O

© o » N O

X, more 9 x, smaller
10 x, more difficult 11 x, more
12 O

Grammar in Use

more expensive than, more popular than, better than,
more fantastic than
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Lesson 3 @ Superlatives (1) z4= )

0 biggest, 7F& 2 / smallest, 7t =2

1 shortest, 7t &2 / longest, 7H 7!

2 shortest, 7t& 7|7t 22 / tallest, 7t& 717t 2
3 lightest, 7t 7HH2 / heaviest, 7t& 242
4 slowest, 7t& =2l / fastest, 7t W2

5 thinnest, 7} Sf2 / thickest, 7F F7H=2
0 -est, hardest 1 -est, softest

2 -est, coldest 3 -est, slowest
4 -est, tallest 5 -st, cutest

6 -test, fattest 7 -est, highest

8 -iest, easiest 9 -iest, happiest
10 -est, sweetest 11 -iest, funniest

pp. 35, 37
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12 -est, youngest
14 -est, brightest
16 -est, fastest

18 -gest, biggest
0 the biggest

3 the largest

6 the nicest
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=2 80| 71 FCt.
=2 80| 7+ &Lt
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HIRYZ |7} 7K w=C,
L20[ 7K gitt.

APHO| 7t e

1 the tallest
4 the hottest
7 the thinnest

13 -st, widest

15 -est, cheapest

17 -st, wisest

19 -est, thickest
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IM 7k 21 02| 712tg ZkX|a Qleh

HFE B=0iM 2t 2 Holch
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0 the shortest
2 the safest

4 the longest
6 the smallest
8 the thinnest
10 the heaviest
12 the hottest

*STEP 1°

0-1 the, youngest
2 the, hottest

4 the, shortest

1 the biggest
3 the busiest
5 the largest
7 the clearest
9 the deepest
11 the lowest
13 the luckiest

1 the, newest
3 the, saddest

5 the, slowest

2 the longest
5 the deepest

p. 38

6 the, richest
8 the, oldest

* STEP 2-

0-2 the, strongest, of
11 the, deepest, in
13 the, youngest, of
15 the, highest, of
17 the, prettiest, of

0 the fattest
2 the freshest
4 of

6 the easiest

*STEP 1

7 the, highest
9 the, poorest

10 the, tallest, of
12 The, fastest, in
14 the, cheapest, of
16 the, largest, in

1 the longest
3 the highest
5 the loudest
7 in
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p. 40

00© 10®
® 50©

2@ 3@

H

The, smartest, Nicole
chestnut, the, shortest
Yesterday, the, hottest
The, fastest, Frank

A W M = O

Golden Gate, the, longest

o

the, tallest, of / the, shortest, of
1 the, heaviest, of / the, lightest, of
2 the, oldest, of / the, youngest, of
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p. 42

looked the cleanest of the rooms
was the funniest accident in history
is the coldest village in the world

looks the newest of the four bicycles

A W M = O

was the happiest moment in her life

is the prettiest girl in school
is the greatest building in the world
was the smartest scientist in history

tastes the sweetest of the five

A W M = O

wore the nicest dress in her closet

X, the biggest 1
O 3
O 5
O 7
X, coldest 9
10 O 11 O
12 x, luckiest 13 O
14 x, saddest

X, largest
X, youngest
X, the strongest

%, the longest

© o & N O

x, the nearest

Grammar in Use

largeest — largest, heavyest — heaviest,

stronger — strongest
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Grammar in Use
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Lesson 4 @ Superlatives (2) z/4= )

a A O N = O

) 7
= B2t a2
o
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0 most dangerous 1 most interesting
2 most useful 3 most careful

4 worst 5 most worried

6 most important 7 most

8 most beautiful 9 least

10 most difficult 11 best

12 most surprising 13 most foolish
14 most famous 15 best

16 most 17 most helpful
18 most honest 19 most delicious
20 most expensive 21 most easily
00 10 2@ 30
40 50

0 cheaper, the cheapest

1 sweeter, the sweetest

2 taller, the tallest

3 smarter, the smartest

4 more exciting, the most exciting

5 more expensive, the most expensive

6 the most difficult, more difficult

7 the best, better

8 more, the most

9 less, the least

10 brighter, the brightest

pp. 45, 47
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less, least

faster, fastest
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more, most
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p. 48

more slowly, most slowly

more careful, most careful

more foolish, most foolish

5 better, best

7 worse, worst

the,
the,
the,
the,

most, interesting
most, difficult

most, famous

o A M O

most, intelligent

more, careful
the, most, honest

cleaner

o A N O

noisier

0 more, beautiful, than
2 the, most, diligent 3

4 sweeter, than

0 O] Abe2 Lol 7+ S0l SCt.
1 20[F2t22 7R Flofet &0t

1 the, most, excellent
3 the, best
5 the, most, surprising

1 the, most, wonderful
3 The, hottest
5 the, shortest

1 the, largest

more, dangerous, than
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2 St=R0{= LiofA| 71 0212 ofoich p. 52
3 A22 A7| BP0 7tE Z2 AZolCE
4 U= B0 7R RY He 0 is the best speaker in her class
5 19| ZZ2 Lol 71E =2k AA0ICk .
6 a3 viol JHa =t solc 1 was the saddest day of my life
2 is the most famous doctor in the country
3 is more powerful than fear
0 1Qf0|= JHECE O AL 4 is the most honest student of the month
1 A2 2 FatolM 7H S FHOIC 5 slept longer than me
2 U= MlgollM 7He FElst AE0|0)
3 Saff 7ty o2 Z2 ofmIULCE
4 U B To| vrart o sich 0 the most popular 1 more delicious than
5 1742 2= 74 0|0F7| = J1&H WL 2 the worst 3 the best
6 T M= MEIM BAaRCHH All{ich
0 X, the least 1 x, most
2 x, more 30
4 x, more famous 50
p- 50 6 X, better 7 x, most colorful
8 x, best 9
0 ® 10 2 @ 3@ ©
10 x, more 11 x, the most
4 ® 5 ® 6 ©

12 x,the mostboring 13 O

0 the, most / the, least / more

Grammar in Use

better, more fluently, faster, best

1 the, most, expensive / the, cheapest / more, expensive
2 the, most, difficult / the, easiest / more, difficult

3 the, fastest / the, slowest / faster

4 the, best / the, worst / better
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p. 56

SfiA: (/ more sunnier - sunnier
903 1 Alice sings better than me
* F910| SYO|LCt O fglstl] / O f4L/ O =L / T ZfL|?

= 2 What is the worst news of the year
10 L
@ . 3 China is bigger than Japan

c 0= 23l 7HE 28 R Y= ARoltt

XS 0| DFZoiA T4ak 2 FPICH 4 Turtles live longer than ants
BIA: the+E| A2 +0f/in ~ 5 This is the nearest of the three banks
16 6 That is the earliest bus to Busan
@ L2 LIB|ECHH AITErt
@ HB= 22 ge=R20H =gt 1 Jeju is the most popular island in Korea
@ LA Ha= L AL O LT,
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2 The Pacific Ocean is larger than the Atlantic Ocean
3 What is the slowest animal in the world

4 | eat more vegetables than my sister
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Conjunctions, Imperatives,

Suggestions, Exclamations

Lesson 5 @ Conjunctions ==/

POINT CHECK pp. 59, 61
A 0 and 1 but 2 and 3 or
4 and 5 or 6 but
B 0 and 1 but 2 but 3 and
4 or 5 and 6 or 7 but
8 but 9 but 10 or
C 0 before 1 when 2 so
3 when 4 after 5 because
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PRACTICE p. 62
A 0® 10 2 © 3 ©
4 ® 5® 6 ©® 70
B -.step1.
0 but 1 and 2 or 3 but
4 or 5 but 6 but
*STEP 2
7 because 8 so 9 before
10 when 11 after 12 because
13 before 14 after

C 0 Can | read the book after you finish it
1 We have to get ready before the guests arrive

2 Mike chose strawberry juice because he likes
strawberries

3 Leo put too much salt in the dough, so it was too
salty

4 The door closed after | got off the bus

5 When he came back, he brought some chocolate
for us
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*STEP 1
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p. 64
0 because 1 and 2 after
3 Before 4 but 5 or
6 so 7 after 8 before
9 when 10 because 11 so
0 so 1 because 2 but
3 after 4 before 5 or
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p. 66

0 and 1 but 2 so

3 because 4 before 5 when

0 because 1 after 2 when

3 before

cute and small

but he speaks Chinese very well
buy a kite or make one

when it is the weekend

before he went to Japan

so | have to take a bus

after he knocked twice

N o o0 A WO ND = O

Because | didn’t see the stone ahead

Grammar in Use

but, and, because, after
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Lesson 6 @ Imperatives, Suggestions
HH=, HetE
pp. 69, 71
*STEP 1°
0-1 Wash 1 Clean 2 Be 3 Open
* STEP 2
0-2 Do, not, eat 4 Do, not, step 5 Do, not, drink
* STEP 3
0-3 Let’s, have 6 Let’s, take 7 not, make
0 Take some rest,(or)
1 Watch your step,(or)
2 Take your time,(or)
3 Exercise every day,(@nd)
4 Drink water at least two liters a day,(@nd)
5 Take an umbrella,(or)
6 Take the map,(or)
7 Order the book now,(@and)
8 Be nice to your new dog,(@nd)
0 you’ll make it.
1 you’ll understand it better.
2 your stomach will be upset.
3 everyone will get a chance.
4 you’ll get thirsty soon.
*STEP 1
0-1 L{| 747} CHRICE L9 7H§ A7Aet.
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Do not[Don’t] open the door
Close the windows

Do not[Don't] sing that song
Walk to the right

Turn to the left

Do not[Don’t] run in the hall
Do not[Don’t] talk loudly

Wash your face now

Let’s play soccer

Let’s take a break

Let’s exercise every day

Let’s not waste paper

Let’s make the bed all together
Let’s spread out our arms

Let’s not take the subway
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0 and 1 and 2 and 3 or

4 or 5 or 6 and 7 or

0 or 1 and 2 Be
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6 Watch 7 Don’t be 8 clap
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0 Take a note, or you will forget
1 Wear this orange dress, and you will look better
2 Bake the dough for 20 minutes, or you will burn it

3 Save your money for a week, and you can buy a
gift for Mom
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0 Lets, wait
2 Don't, run

4 Let’s, not, be late
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Don’t waste your time, or you will fail later

Eat chocolate less, or you will gain weight

Get up early tomorrow, or you will miss your flight
Do yoga, and you will get slim

Change buses at this stop, or you will go to the
wrong place

1 Be
3 Why, don’t, pick up
5 Write
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p.76

Dress up for the party tonight

Let’s go swimming

Let’s not make a mess

Don’t waste your money on shopping
Why don’t we help Mom for dinner

and you will see the mountain

or you have to pay a late fee

and you’ll catch up with David

or you’ll have no chance later

and it will take you to the City Hall

x, and 1 x,or

2 0 3 x, Let’s

4 x, Get

50
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6 x, Do not[Don’t] 70

8 x, sing 9 x,or
10 O 11 O

12 x, and 13 x, Let’s
14 x,Be

Grammar in Use

Doesn’t » Don’t, Let — Let’s, Puts - Put, or —» and
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pp. 79, 81

0 What / an / interesting / game / it / is
1 What / beautiful / scenery / it / is
2 What / kind / girls / they / are
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A WO N = O

3 What/a/ strong / boy / Scott / is
4 What/a/lovely /day/it/is

(NO) 10 2® 3@
4 ®
0 How / brave / the boy / was
1 How / old / the house / is
2 How /sour/it/is
3 How / well / he / cooks
4 How / fast/ this plant / grows
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4 How 5 What 6 How 7 What
8 How 9 What
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*STEP 1°
0 What
4 What
8 How

12 How

* STEP 2

14 alucky

1 What
5 What
9 How

13 What

16 an excellent class

18 big eyes

20 a brilliant idea
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p. 84
0 a delicious stew 1 loudly
2 bright 3 useful tips
4 a scary movie 5 full
0 What a great story 1 How high
2 How strangely 3 What foolish men
4 How old 5 What a big city
6 How important

a grand castle it is
fast Sophie runs
cute the kittens are
well Lee swims
a fast reader Brenda is
sweet the flower smells
a good soccer player Nicole is
well Thomas drives
soft this coat feels
an important thing it is
loudly Phil snores
a big island it is
huge the cruise ship is
delicious the bread smells
a deep pool it is
pretty colors this fish has
fast time flies
quickly his heart beat

a small room it is
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2 How beautiful the flowers are

ol

ol

3 How clean your room is

4 What dirty boots Jack wore
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6 x,ahotday 7 x,?

9 x, What
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11 x, polite
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10 x, What

12 x, the story is
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0 What big dogs they are!

Grammar in Use

1 How famous John Lennon was!

A ZE o2 EEllad Q! J7E o] 2R

2 What a strong toy car it is!
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3 How fast the bike goes!

4 How strange the sound is!

5 What a comfortable chair it is!

6 What a noisy kid he is!

p. 88

7 How slowly the turtles go!

5@ 606G 706

40

13 2@ 3®
8 9@

100 11 1203 130

0 How spicy the pasta tastes

14 What important information it is!

1 What a large umbrella it is
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15 How fast he walks!
16 watched TV after | finished my homework 17 @
18 ® 19 Do not[Don’t] take pictures here 20 or
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Sl 4: What+ (a/an) + @A+ BAH 3201 + SAH

1 sHe HY 27U

S A How+ AL/ A0+ SAH

4 What important information it is!
A2 e st YLt / 322 FY £ HEFL
A: What+ (a/an) + & 8AH+ HAL+ 0+ SAH
ow fast he walks!
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SiA: How+ HEAL/ FAH 0+ SAH

16 watched TV after | finished my homework
SHA: after (~=01)

17 @

&2 4e Al ofuf?

@ &2 M4

® Q2|5 s Fof &2 Aojzt,
A before (~Z0i))

18 ©

34 because (~ M20)

Aojek x| efod 2|2 of 4 gitt

19 Do not[Don’t] take pictures here
0§7|Af AFEIS K| OIA|Q.

20 or

How well Phillip dances
What a large tree it is

What nice actors they are

A WO N =

How high the tower is

Let’s go out for dinner

Why don’t we turn off the TV now
Do not[Don’t] tell a lie

and you’ll save time

or you’ll catch a cold

when we went on a picnic

before | had breakfast

0 N O a0 A ODN =

so she can pick the apples easily

1 ZEe Y 53 F FERLY
2 I8 ¥ IRt LR ALY
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4 JEe WY ETL

p. 90

Lesson 7 ~ Writing Practice @ | 019



Lesson 8 @ Alternative Questions, Negative
Questions =022 2xo2e

POINT CHECK pp. 93, 95
A 0 oranges 1 tennis
2 Japanese food 3 ayellow T-shirt
E 0 Who 1 or 2 Which
3 lIs 4 or 5 | like purple.

6 | finished project A.

C 0 Isnt 1 Weren't 2 Aren’t
3 Doesn’t 4 Can’t 5 Didn’t
6 Aren’t
D 0 Yes, |, am 1 Yes, it, is
2 No, they, didn’t 3 No, he, can’t

4 No, she, doesn’t
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A e QX2 ARt F 0{= Zi0| o EL?

B: Lh= Q&IX|7t of Z0f.

A O FUOICHEH|L|AS &L, OFLIH BYERIES X[L?

B: & FUOICHEH|LIAS X,

A JHE U2 342 91 UYL, OfL|H o= SAIS I3 QIoILI?
B: JU= Y& S4lg 911 QIRI01.

Al LE L2 EINEE QUL O[T 7K EJMEE QAL|?
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B: L= Hato| Zof,

A Le Z2HE AS OFFL|, OlL|H Z2HE BE OFL|?
B: Li= Z2HE AZ OFEO,
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Y X2 B2IU? [ e X3 Z2Ix) oLl
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PRACTICE p. 96

A STEP 1
0-1 Are you a chef or a waiter
1 Is the bag cheap or expensive
2 Do you drive a sports car or a truck
3 Are they friends or co-workers
4 Will you cook dinner or do the dishes

5 Did you visit the museum or the art gallery

* STEP 2+

0-2 Which does she prefer, hot chocolate or tea
6 Who do you go with, Tom or Chris

7 When did he get up, at 6 or at 6:30

8 Where will they go, to the ocean or to the mountain

Isn’t she Amy

Wasn’t Russ a funny comedian
Can’t we bring a dog into the park
Didn’t the machine work at that time
Aren’t they singers

Don’t you take part in the event

o oA O N = O

Doesn’t Sarah leave in the morning

C 0 No, he, didn’t 1 Yes, it, is
2 No, we, can’t 3 No, I, didn’t

4 Yes, she, does 5 Yes, they, are

A

*STEP 1+

0-1 L= Q2|AfL, Ot SYHRO[L(?
1 Z17H2 ML, OFL| HIML?

2 U AXXIIE 2ToIL, OfL[H EE 27617
3 152 ZFES0IL, O SEE0[L)?
4 U= MY HAE Q2fg 7L, OfL|H EHXIE & AL?
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p. 98
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Didn’t, you, close 1 Aren’t, you, surprised

3 Can't, it, live

N

Doesn’t, she, look
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Don’t, they, watch
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p. 100

Which do you like, melon or grapes
Does she teach music or science
Can’t Sue play the drums

Didn’t he bring the book yesterday

A W M = O

Isn’t Mr. Brown her husband

Do you like this bag or that backpack
Will you watch TV or go shopping
Isn’t she a great singer

Which is more important, time or money

A WO N = O

Can’t an ant climb up the tree
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0 Yes 1 Yes 2 No 3 Yes B}
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8 9 10 11
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3 do 4 can 5 didn’t
6 doesn’t 7 weren’t 8 won’t
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B: 8, 18 7ot (MAas =2 7i0F )

AdE 2SS TS 4 U, 2R 2L?

B: OfL|, J=X| gfof. (&re % glof.)

Al 252 EF7FORRA0], a3HR|?

B: S, X 401, (ZI77t OFLIU01.)

A: BITH= QJARZF OFLIOf, IR-X|?

B: OfL, 12}, (SJAtok)

A WO N = O

o

[N

]

e I B B BB BB BB S S

w W >

0® 10 2 ® 3@
4 ®
0 A: doesn’t, she B: she, does
1 A: won’t, he B: he, won’t
2 Aiis, it B:it, is
3 A: did, they B: they, didn’t
4 A:can’t, you B: 1, can
5 A: weren'’t, you B: we, were
6 A:was, it B: it, wasn’t
7 A: are, they B: they, aren’t
8 A:didn’t, he B: he, did
0 A:isn’t, he B: Yes, he, is
1 A:is, she B: Yes, she, is
2 A: can't, they B: Yes, they, can
3 A: doesn’t, he B: No, he, doesn’t

=42 Sto] EX| got, IHX|?

= =2 TIX] 4404, IK|?

= 01710l Z=XI5HA] Q42 70k, J=ZX|?

H= 2o “2|x| gof, IZX|?

PI3p Qlap= 2pEO]| BE FIPRA0], THX| §4ULI?

T ofHiRE 17| HE Hdll, 2R 24L?

g, 13k, (FE Hsl)

J= 0iY J9f o|n| S &felaet 7ok, DX okent?

OfL|, IX| et5 7Ok, (elstx| 242 7{0F.)

Q&2 J%A FX| o, JFX|?

o], h. (F.)

J52 O S kK| gh0f, JRX|?

S, TR ARA0L. (ZAFE| 22401.)

He T e A8alix =, T-X| L7

S, JH. (A8l =)

Lot ®ele ¢ =of o m=lof, JHX| otLl?

8, J3H01. (m=7Hod.)

T A ZAH2 THOIQUX| 22404, AFK|?

S, JZX| 24A01. (RHO|UX| 2£2401.)

Lo ZHE2 AX| efof, JZK[?

S, JZX| 2ot (ZX| 2ot)

Clo|H|E= Ofd| 19| 0[RS BHLtO], T-X| ARL|?

S, T304, (BH&tol)

Z2 gAr0of, O] QhL|?

S, 12l (3AF2I0[0k)

OF2[Ok= X|HFIALZ} OFL|OF, =X|?

OfL|, T12H. (X|2k|ALOF.)

p. 108
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2 A E1}0[R2[0hE o7|E AiFE = QUof, 2| §L?
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3 A E2IE 7HX|2 o], OFX| %”—I?
|

p.110

isn’t windy today, is it
didn’t listen to the radio, did he
come from Germany, don’t they

will visit my grandmother, won’t you

A W M = O

can take care of her sisters, can’t she

teaches music, doesn’t he

will open next week, won't it

is notlisn’t] shorter than you, is he
saved a lot of money last year, didn’t we

can arrive here before six, can’t she

a A O N = O

do not[don’t] wear glasses, do you

0 isn’tit 1 doesn’tshe 2 did not[didn’t]
3 won’t we 4 doesn’t he 5 is notlisn’t]

6 did you 7 can’t he 8 are notlaren’t]
9 will notlwon’t] 10 were not[weren’t]

1

1 Yes

Grammar in Use

didn’t you, did, was it, No, can’t we

0 1 =2 Hel X0l Qlof, J~X| b
1 JuEs 33 ARRIE Hof, JEX| L?
2 = OfElg HX| tod, JX|?
3 2= WY M3k shH 2 70k, O™ AX|?
4 22| LOtHX|z ADIEES 7IX| 10 AN, JEX| 24L|?
5 0{7|M YX| gfot, JEX|?
6 L= 2 TX| ZU0, J3X|?
7 D= Jo ZEkg Mol Lo & & of, J-X| 9hL?
8 T ISASE EE FIFEsHR| ok J-X|?
9 14t 95 W 2BM CRAS X 92 O, JHHXI?
10 A 3|52 =SR] 2401, IRK|?
B: 8, J%X| U0, (A=otX| 24401.)
11 A: OS2 19| dHs Z 7o}, I kent?
B: &, I 70} (8 Hok)
A L= OZIEho]| LizHo], J=X| §4Q4L(?
B: 8, 3401, L= S0l AF=iSHO|
Al O SUS MHRSHA| 242404, K2

024 | Answer Key

p. 112

13® 2® 3 @ 4 werent,they 5 isn't, it

6 will, he 7 80BG 9® 1003 11 ®
12 @ 13 @ 14 Can’t,come 15 do, like, better, or
16 doesn’t, eat, does, she 17 @

18 you have pork or beef?

19 didn’t send an email, did he?

20 closes every Sunday, doesn't it?
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@ A L 6A] Tol| == = giL|?
B: &, & 4 gl0f. WE0| a3,

@ A HE SHIE X AJAF Tl OFE! AL, ORI X AlAL S0f| OFE HL|?
B: &, L= X4 AlAt Hof| M2 0k ok,

Q@ A U M43 b2 Aok, 2% HX|?
B: 8, J¥X| &g 7ok,

@ A U E Aof| 71| ZASER] ot ?

B: OF, 3301, 4= 7[AHE SHO1.

=X
® A: Q= O 7|7F A, IR §4L)?

B: g, JaH. JLo| QT 7|7} 7.
Sl MEfO|2 29| T2 Yes / NoZ ofA| @4=CH
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|J
rlo
2

M 288 7HK| etL?
5L, OfL|e BIEfS A SLI?
=X o4L|?

o
& rroun
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o
2
i

15 do, like, better, or
B: L= A20| Of &0t

16 doesn't, eat, does, she
B: OfL|, J2f. (AfzHE 9H01.)

IESH @ Yes - No

18 you have pork or beef?

U= SHX| 17| YL, Ot ATT|E HUYL|?
19 didn’t send an email, did he?

2012 0|HYS HLHX| 24RL04, TRHK|?

20 closes every Sunday, doesn’t it?
3 7= o 2ol 2 B0k, J=X| oiL?

WRITING PRACTICE ® p.114

A Aren’t | late

Don’t you trust Emily

Doesn’t Monica love his painting
Won’t we learn Chinese at school
Didn’t it snow all day long

Can’t Jane fish well

N O a0 A ON =

Weren'’t they on the farm

He sleeps on the sofa, doesn’t he
They went to the theater last night, didn’t they
The bus will not leave before 10 o’clock, will it

Amy was the best student in class, wasn’t she

a A WO N =

You can’t ride a bike, can you
6 Her hair is long, isn’t it

>

1 LiE S/ Lis S UL

2 U ofg2|S ReLh / e oEeE R eL?

3 ZL7h= 09| OIS ARSIL / 2LFhs 19| Ojle AYSHA| g4L(?

4 2[= StuoM SIS Hi2 Aot / R2[= SuolM SRS HiA| 22
AL|?
StE T =0| Sttt / 51F Y =0] 2| gtL|?

6 T2l SAIS HE £ QAT [ M2 HAIS Ze & UX| QL?

7 152 SO AACE. [ 252 SO UK EUAL?

= ALl X DX 24L?
=2 ofxIgto]] A0 740], TZX| §LUL|?
OAI ol HLEX| 942 of, J=ZUK|?

BHOllA 7H @45 8He0|R101, D-X| 22otL]?
L= xrx_m% 2

Ef, JZX|?
Jo] ifz|7tete Zof, J=ZX| o4L|?

L I NI R
|
o N
|>
rIr

Verbs with Direct Object & Indirect

Object, To-Infinitive, Gerund

Lesson 10 @ Verbs with Direct Object &
Indirect Object <-0i= 4

POINT CHECK pp.117.119

A 0 My mom bought me a new bike.

vV 10 DO
1 She gave me this memo.
V 10 DO

2 | brought him my backpack.
\ 10 DO
3 Justin sent me flowers.

V 10 DO
4 Bob asked me your address.
V 10 DO
5 Mr. Chang taught me Chinese.
V 10 DO
6 He showed us his new car.
vV 10 DO
7 She is making us pasta.
V 10 DO
8 Sally passed me a ball.
V 10 DO

Lesson 9 ~ Lesson 10| 025



o

® 10 2@ 30
@ 5@ 6 Q@ 70

H

He the ball to me.

| bought] lilies for her.

Please the umbrella to me.
Beth a letter to him.

My cousin his news to me.
Dave his bicycle to his friend.

Mr. Cooper some tea for her.

Emma questions of her teacher.

N o a0~ WON = O

o

to 1 to 2 for 3 to
4 to 5 to 6 of 7 for
8 to 9 to

2| A0k LHol|7Al M RAERAHE AR AT

HE Lojl7| o] =2 E FUct

07 U 712 ZEHEERRAC.

EI2 Lioj7 22 =T

Ltoll7 Hel =45 SRUCE

1HES Lo S=012 712X FAIChL

2|0f7A| ALl M XS 201 FRACH,

E|0i|7| TFAEFS BFS0] =10 UL
o
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4
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0 N O oA WOWN = O
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=
=
=

|l
i}
O
o

HEsl FRAC.

0 L= 107 A22[ADMA FIEE BRCh

1 & Lo SO[HHE 2HS01 FRACH

2 J4= HoA dEs & Aot

3 Lfoi7| U eiEs deiEan?

4 = Lol SME M F=RACEH

5 2= |07 Xlel 2FES H0f FUCH
6 U= 107 22 AL

7 FEI2 Dol xHe| ZAFES &sh FUCH
0 1= o7 3& AdlIFct

1 Lk JE0I| Higks AF FUCH

2 LioiP7| O 24t FAIQ.

3 HA= Dof7 HXIS ok

4 L AFES Lol Jo] A4l Zaf| F=UCh

5 Cl0|2= &F0I7| XFHAS LAFUCE

6 T M= I X(K)E & 7HMCIFC
7 Aot MUl 2SS Tt

2| ottHRli= 2 S0l MO|A= 0[0F7 £ ah FALCE
| 2S mEfol|7| Z2f?
2 Lh= U OIS Hoi|7| Af HHOl221S AF AL

026 | Answer Key

© 0O N O O A~

N O o0 ON =2 O

rx
>
=

=
El
B
lo or

2 f2[07| 312 712X FAlct
Lol 7| T=sl Zal?

A & 2E Lol B F=AL.
07 7tAS S0{=ER4CE

ot
0

q
m
0o
|>I

Lo

; ZoiI7 OF AALS BHSOf L7

Ui 2= Lol HIM J2S Hoj FRACH

LA = H 0|20 7[EIS LeHFRACH
0@ 10 2 @ 3@
4 © 5@ 6 © 7 ®
*STEP 1°
0 to 1 to 2 for 3 for
4 to 5 of
* STEP 2
6 Bob your book
7 my sister a birthday card
8 her toaster to me
9 her son music
10 an alarm clock for me
11 his daughter a bookshelf
0 a small cheese pizza to me
1 a camera for me
2 the way to the airport of me
3 a funny story to me
4 your smile to me
5 a cake for him
6 a drill for[to] me

Belojgle ISofA ek 7= R0

Of0|2I2 Xilo| Ofo|Sol|A| ZiLtzS BHS0f =UCH

T= 2|0f7 S48 7FMCEEUC

SiC| 2212 22|07 Rile FHE Hof FUct

E0|= Xpe| A S Lol 7| ELl =UCH

uE= QrEatol|Z| ot HiLIS FACE

= 2A0)7

Lis RAOIA Lo ES HREE LAFAC

L= Liol7| 512 3t Qs 71LI?

*STEP 1+
0 Ui 0|z U Zofl7i| elgs ULt

HON =

A2 EFoA SME 2Rt

{OIA L X BAIE ZPCEERAC
HolIA| ZHH2HE AF FRUCE

Al O|R = LH 2FEE LIOlA AUIF=RACH,

-

|J

p. 120



5 T OiLIME D0 F20 HEHSE S0{EUT,
* STEP 2

6 L= Ufof g ol = Zo|ct

7 JHE= W oiSYo|A 4 7I=E 2O

8 4= Lol7| XHe| EAETIS YT

9 ZZ|= xRl otS0l7| 2t 71E2H FUCt

10 2| Oftih= LIO|I7| LEAIAIS AF AL

11 G2 Xef o7 2420|1E BHE0] FRACH

o o O N =2 O

a A WO N =2 O

 &lTte '—HHIHI =1 2
Lol galef 0|AS 2o AR,
2|9 ofxtElTE 0f7| 0|2 E et
Loll7l EZE ZPTEERAC.

d=

0 gave, to
3 bought, for

1 wrote, to 2 lent, to

4 made, for

00© 1@
® 5©

2@ 3 ®

H

We gave the monkeys some bananas
My mom made a sandwich for me
Ella sometimes tells me her secrets
He bought a lottery ticket for me
They showed their new sofa to us
My mother sent a wall clock to Eric
He taught cutting skills to me

Please bring me some water

Julia wrote her brother a note

© 0O N O o A O N = O

Would you lend your tablet PC to me

10 | always ask advice of my grandmother

LA 2l2eis AdiEal?

oA 2 E=E Bul FAQ. Fo| Zote.
LU oA ofzte] =5 &1

H17|7F Holl A RRAlef 1

Lh= 7101 & MES & AT

FLl= & Lol FEf

=

22|z S0IS0A BILILIE & FACL
22| Yoh= Lo HESRIXIE BHE0] =UCH

p. 122

© 0O N o O~ DN

10 Lh= et gojLofA =

0w N O O~ ON = O

At w2 Lol RHef HIZE S EEih
O= Lo 23S AP AL

52 e[l ARE2| M 2THE 20 FCL
22| Yoh= o2Io7 HAAE 2REt

O= Lo ZEshs Ha 712X FACL
HMoil7l 22 & 7IMCiFEAL.

£2|0t= o7 ZX| 5t F2 At

Lol ElE

sl PCE “'E#?F—*EEHR?
KOq
Bl

0 She showed a handmade soap to me
She showed me a handmade soap

1 Her sister made the baby food for them
Her sister made them the baby food

2 My grandmother sent some tomatoes to us
My grandmother sent us some tomatoes

p. 124

3 Would you bring the vacuum cleaner to[for] me

Would you bring me the vacuum cleaner

4 Eric lent his DVDs to us
Eric lent us his DVDs

5 He passed the pillow to Jane
He passed Jane the pillow

6 My parents bought a new computer for me
My parents bought me a new computer

7 Mr. Kim always asks a question of me
Mr. Kim always asks me a question

00O 1 x,to

2 x, for his kids 3 x,toTim

4 x,us 50

6 x,us 7 x, for them

8 0O 90

10 x, her boyfriend 11 x, to Sam’s kids
12 x, of me 13 x, to Lisa

Grammar in Use

to, her some presents, made

Loll7 HYE A E2i?

2 g 2707 ZAHo|2E FUCt
ZFr0k= XRtlo| ofo|Soi7| e AF FUCh
oitl= oA 3& AdlFct

I MUH2 2/ 232 71=2H FAch
2 OFF0L|= Ofo| S0l HEE 2HE0] =UCE
LIZ2 2(ofA XHef A 2ratE Hof F4Ch

79| Yot= S0 SAEE 2HE0] FUC
L AE2 LIOI|7] A OS2 S AP FAUC.
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= Uil Z0f oist 418 SRACE
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Grammar in Use

#71= X|ctofl el FFS0A =ihigE 2RICL J49| Y2 ORI, O
ol ElFE2 JHo7 =28 7IMCEFICt Hi7|el ok S0 =23 70|
3o F7|E BtE0{ FUCH

Lesson 11 @ To-Infinitive o5z At

pp. 127,129
0 to buy 1 To solve 2 to exercise
3 to shop 4 to work
0 Y= S 1 == Ith
A5tz A2 3 oloprlst= A2
d= 2
00 10 2S 3S
4 0 5C 6 C 70
0 (a lot of homework
1 (anything
2
3
4
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0 Lh= M FHEX| 5t €S AfOF BTt
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2 2= 25 AlZI0] gict.
3 152 482 o] fleh £ZE0f 2{Th
4 19| B2 F20M stz AolCh
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*STEP 1-
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1 to pass

0 to be

7] ofo]

0 L=

3 togo

2 To become
4 to take

5 to buy

Holl7 & =7 oto]
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Of| OFR A= QiCt + 22

LHEE
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20| OFR A= gich

50

0-1 Clara practices hard to be a singer
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0-2 We have something to drink

1 | will get a loan to buy a new house

2 She has many books to read

3 He went to the park to play with his friend
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Kio
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|
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b

5 L7l

4 There is nothing to eat
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p.134

0 togo 1 to drink 2 to exchange
3 to find 4 to meet 5 to help
6 To catch

His goal was to pass the exam
To make cookies is not easy
brought a present to give her

She has something to tell you

A W N = O

| don’t want to study math

came early to get a better seat
My final plan is to travel the world
is buying eggs to make a cake

He decided to write a book for children

A WO N = O

| need a new shirt to wear

o

to buy 1 surprise 2 to become
3 to drink 4 is

Grammar in Use

to buy, to get, to wear

0 H2|= xR XHE ALZ| 2l3l =0] & B3I,
1 Mo A2l2 A0S =217 h= HOIRAC.

2 Lt= RES HILIt 7| 2lsl 22[R=00| 2T
3 Ofe 22 YstMe?

4 OfElg Y= A2 SQsitt

Grammar in Use

Lt= A BEX| 3 2 AfoF 3 T2iA L= BIXIS A| Slsh 2otet 3 a5
Z4Ch 20K HHIXIZ 0120l S0f SIXIRH Lis T4 @4 AIX| eigich, 12
2 ¥y pAl02 BHCH
Lesson 12 ® Gerund =24t

pp. 137,139

0 Drawing a picture (is) interesting.

1 Mastering Korean time.

2 Drinking a lot of coffee (is) bad for health.
3 Participating in this class (is] necessary.
4 Playing soccer with friends [is] exciting.
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a A WO N =2 O W N = O W N = O A W N =2 O

W N = O

0 Eating vegetables 1 Keeping the rules

2 Using a smartphone 3 Making Kimchi

0 Going 1is 2 Using 3 to read
0 writing 1 to talk, talking

2 finding 3 working

4 to see 5 shopping

0 to watch movies 1 helping sick people

2 to give them tickets 3 sleeping late
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0-1 Doing paper work all day is boring

1 Biting your nails is a bad habit

p. 142

2 Going canoeing this summer vacation is a good

idea

* STEP 2
0-2 enjoy reading
4 finished writing

3 gave up learning

5 continued studying

0 good, at, solving / busy, studying / feels,

taking

1 good, at, cooking / busy, cooking / feels,

eating

2 good, at, swimming / busy, working / feels,

going
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p. 144

| like reading a book
Why did you quit going
Getting a taxi is not easy

His goal is winning the baseball game

A O M = O

| hate waiting in lines for a long time

She doesn’t enjoy wasting time
| don’t feel like studying English
He kept looking at you

| cannot give up loving him

A W M = O

He never goes shopping on weekends

Singing is fun

My hobby is playing the flute
Studying science is useful
Laura loves eating watermelon

The baby started to cry

a A O N = O

To drive fast is very dangerous

032 | Answer Key

0 smoking 1 needs 2 drinking
3 to get 4 is 5 finding
6 Tying

Grammar in Use

snowboard - snowboarding, to do — doing,
to teach — teaching, learn — learning, drinks — drinking

0 ‘celist= 22 xHoIUCH

1 U Foj= EREES AFsh= Zolct

2 1stg SFot= AS KEdiCh.

3 Eote e g F2 2ottt
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p. 146

13 20 3@ 4G 5@ 6® 70
81t 9 of 10 He showed his family photo to me
11 ® 12 @ 18 todo 14 working 15 @
16 @ 17 ® 18 ®

19 teaches math to us / teaches us math

20 buy a flower for his mom / buy his mom a flower

10

3iM: become2 E0E ZQZ dt= ME| SAt

2 ®

SiM: D - tying @ - driving @ — using @ — writing ® - taking
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13 to do
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14 working
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9 teaches math to us / teaches us math

19
2 MHER 2207 st ZtEXMCh

on

H4: teach + 2 SE0] + to + ZHISE|0] £ teach + I SA{01 + EH =04

20 buy a flower for his mom / buy his mom a flower
Ho|=2= HotolA 22 At =2 Z0]Tt.
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42 buy + SHSHO] + for + ZFHSHO| £ buy + ZHSHO| + ZHS o]

p. 148

woke up early to go swimming
likes something to eat
quit playing the piano

needs a quiet place to read a book

a A WO N =

decided to take him with us

showed his puppy to us / showed us his puppy
Exercising regularly is / To exercise regularly is
buy some potatoes for me / buy me some potatoes

A WO N =

asked a question of the police officer / asked the
police officer a question

1 §2 2(07 KHle] ZoixIZ 2ol FC
2 FENOR 250 %2 T2 SOIC
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4 4= ZO 28 Yo,
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( Workbook )

0 F=2 3L} 2Aok= O AL} / 2{Alok= E=ECHH 3Ch
. 10 L Hiof| 0{SC} N 22 dhof of O{SLt. / dhof| X £2 0] 72|20t o
Lesson 1 ® Comparatives (1) =22 () :'E: 1= B OIS, K S EOH OfSH, ol A =2 ol Aeln e o]
P-4 2 Z2 24} 712l o !4t / 22le S20 o 240k
3 A grsh= x0|QACE. 0] R0|C| 4= Of MO|QUCE / 0] FO|C| A= X BHSHELCE
0 older 1 longer 2 softer o xjojolct.
3 nicer 4 thinner 5 clearer 4 O| H| Qlge |k N S elge o ALt / X & Qg2 o] | elgrt
6 smarter 7 busier 8 weaker SRy
9 dirtier 10 fatter 11 deeper
12 wider 13 quicker 0 LS AE[BHC}F|7} O A0} / AE|BE TRt 7|7} O &,
1 HYAes ARIECHE WECE /A2 MYARCHH =2,
0 thicker, than 1 taller, than 2 stronger, than 2 Z M= 0| MELHH ER36ICH / 0] Me = MECHH Zftsict,
3 higher, than 4 slimmer, than 5 hotter, than 3 0| 4Zt= X AXECHH 2YCt. / X AXHe 0] AXHECE O ZHACE,
4 49| Rp= Jo| XFECH ATt / O9| XH= JL49| REECHH ACE

6 prettier, than 7 smaller, than 8 slower, than

0 lighter, than 1 harder, than 2 faster, than

3 earlier, than 4 cheaper, than

Lesson 2 ® Comparatives (2) =22 )

0 is bigger than China p.7
1 is darker than this street
2 is heavier than a bear 0 more interesting 1 more
3 is funnier than that cartoon 2 more useful 3 more boring
4 is cuter than this Barbie doll 4 better 5 more difficult
6 worse 7 more delicious
0 His old office is larger than the new one 8 more careful 9 more
1 He has a nicer car than me 10 more beautiful 11 less
2 Honey is sweeter than candy 12 more famous 13 more dangerous
3 Her room is brighter than her sister’s 14 more expensive 15 better
4 Jeju-do is warmer than Busan
5 Cities are noisier than countries 0 more difficult 1 better
2 more 3 more slowly
0 Steve is shorter than Phil 4 more famous 5 higher
1 Kevin is slower than James 6 less 7 worse
2 Mr. Lee is poorer than Mr. John 8 more
3 That box is lighter than this box
4 His car is bigger than her car 0 more, expensive, than 1 better, than
2 more, than 3 more, delicious, than
4 more, colorful, than 5 less, than
6 worse, than 7 more, useful, than
0 Ul & REE o ML O S0,
1 L= 22| QiitEct 7|7FH 3ct
2 52tol= AXIECE 310] O AILI? 0 more difficult than 1 better than
3 X122 0| HELLH M =Lt 2 worse than 3 more easily than
4 NAIZts X AEECHH isiCt
5 Of =Ah= A F|= 0t B AL, 0 is more beautiful than mine
6 ZICHol M Eaf|AEs T2)|0jAL] 240t O offssCt,
1 works more powerfully than before
7 Ol TAl= M EA|RCH A}

034 | Answer Key
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N O O A~ WON = O

W N = O

o
1 32 220 H HIMT) / 22 SHECHE

are more popular than beef hamburgers
is worse than B team’s

cooks Korean dishes better than Japanese dishes

a A ODN

are more comfortable than those jeans

o

Work is less important than health
1 Silver is less expensive than gold

2 Skiing is less exciting than snowboarding

0l HEE2 N HZHCH O ofFC,

£ZI0j= X|2I0|HL} LS o ZEHC

e Mt o Y F2|A0A FIESS BTt

22| Yohs oM=Lt of MHS| 2% S sict
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L= JECE M2 =2 7HK| 1 Aot
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U2 YECH O SQsitt / 22 AR E 525|0,
o

ALHE EPlE
Attt

A7| B[RO} O Altet,

Lesson 3 ® Superlatives (1) 2= ()

p.10

0 the oldest
2 the highest
4 the richest

1 the youngest
3 the shortest
5 the longest

27| EPlE AEE EP|E0 E

0 N OO o~ ON = O

A WO N = O

6 the tallest

8 the hardest
10 the busiest
12 the happiest
14 the fattest

7 the biggest

9 the smartest
11 the fastest
13 the darkest

15 the easiest

0 the driest 1 oldest 2 tallest

3 of 4 in 5 cheapest
6 largest 7 funniest 8 biggest
0 the, cheapest, in 1 the, richest, in

2 the, noisiest, of 3 the, hottest, of

4 the, brightest, in 5 the, happiest, in

6 the, cutest, of 7 the, smartest, of

0 the, fastest 1 the, highest

4 the, smallest

2 the, longest

3 the, coldest

is the thinnest in her family

is the busiest woman in the office
is the heaviest of the five

is the dirtiest in the house

is the widest playground in the area

a A W N = O

is the oldest person in this village

This is the hardest math question
It is the widest river in the country
She is the luckiest girl

This is the newest bike

A W DM = O

He is the smartest student in school
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Lesson 4 @ Superlatives (2) z1+= (2)

0 more slowly, most slowly

1 more intelligent, most intelligent

2 less, least

3 more, most

4 more delicious, most delicious

5 more surprising, most surprising

6 stronger, strongest

7 more boring, most boring

8 better, best

0 The, most, difficult 1 the, most, crowded
2 the, most, beautiful 3 the, worst
4 the, most 5 The, best
6

the, most, popular

hotter / the, hottest
the, most, exciting / more, exciting

more, useful / the, most, useful

W N = O

the, most, comfortable / more, comfortable
0 the, most, effective 1 better, than
2 the, worst 3 more, helpful, than
0 is the most beautiful park in this city
1 is the best tennis player in the world

2 is wider than the Seine River

036 | Answer Key

3 earned the least money in the game

H

looks more delicious than the tuna sandwich

one of the deepest rivers
one of the most interesting movies

one of the largest stadiums

W N = O

one of the greatest writers
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Lesson 5 @ Conjunctions ==
p. 16
0 and 1 but 2 because 3 when
4 after 5 so 6 before 7 or
8 and 9 after
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0 because 1 so 2 but

4 and

but 1 because 2 so
before 5 After 6 but

before 1 but 2 and

so it is heavy

When she finished the play
and heavier than me
before you get angry

after she left

or eat healthy food

will answer 1 will go

will serve 4 will give
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Lesson 6 @ Imperatives, Suggestions

TYE, Aok

p. 19
0 Getup 1 be
2 Do not[Don’t] open 3 Leave
4 Do not[Don’t] turn off 5 Keep
6 Do not[Don’t] be 7 Do not[Don’t] sit
8 Do not[Don’t] drink
Let’s watch 1 Let’s not go
2 Let’s celebrate 3 Let’s not take
4 Let’s not ride 5 Let’s dance
0 or 1 or 2 or 3 and
4 and 5 or 6 and 7 or
8 or 9 and
Let’s 1 Be 2 Wash
or 4 and 5 Why don’t we
Do not 7 Let’s not

Do not[Don’t] buy snacks

Take off your shoes

Let’s meet next to the supermarket
and you will feel better

Why don’t we have ramen

or you will feel sleepy

Shall we do a role-play

Shall we have dinner

Shall we play an online game
Shall we run the marathon

Shall we take a walk

SO B O 98 QojLfz
UCt 78513 7
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0|zi2 oIt of&S X|7HeL
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Lesson 7 @ Exclamations z:t=

p. 22

o

What 1 How
How 5 How
How 9 What

2 What
6 What

3 What
7 How

© »

What a pretty doll 1 How wonderful

What a deep hole 3 How fast

How interesting 5 What handsome models

o & M O

What an important point

038 | Answer Key

© 0 N O O b~ ON = O

o o b» WO N = O

0 along story itis
1 old the temple is
2 fantastic pictures she took
3 delicious the watermelon was
4 a pretty rainbow it was
5 beautifully she smiled
6 expensive the membership is
0!/? 11/? 21/72/!
0 What a quiet place it is!
1 What difficult questions we solved!
2 How wide the playground is!
3 How proud the soldiers were!
4 What an amazing company they built!
5 How seriously | thought!
0 How bravely they acted
1 How nice they are
2 How politely he speaks
3 How careful James is
4 How brightly the moon shines
Tl Y OlSth2 2L
JTV &= FY MO|UARLH
T= Y2 L7 B2 "ARLY
L= 2 =s2k2 0jop|S8 SUFLH
o] e I ML
I YHAES T ML
Tz FE SiE 2 AL
JHef @2= T oL
1o M Y X|FStLH
2= YL TS M-S HAALH
e "2 o2 Qs ML
ARl FE XL
tHe g2 242 7S o L
dAxXFh= e W el
T Ad2 HE 0L
JS2 P M7 DASOo|FLY
%2 By 56 Fo|FLH
7232 0 71 o[oF7[C}. / 222 FE 21 O|oF7 | Lt
O E2 01 Q= / 3 H2 Y Q2= AFLH
J= 0 X2l ARRISS AACE / D= FHY seEl ARlEg 2
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T2 0L of 2 RXPHACE. / 202 FE oflE SXIZHATFLH
5 4 0§ OLSEA 0|2 XIICh / JUe B 012Y 0l4 XIZiTLh 00 10 2 ®
6 1 32 0 BT / T Sl FE HIMFLH
0 Which do you prefer, red flowers or yellow flowers
o 1 Did Lucy major in English or Chinese
0 172 g2 438 =230|7Lh
L ol Z20| 2Zale SofsiL|? 2 Doesn’t your mother wear glasses
1 122 ™Mt s 3 Isn’t he kind to customers
0 22 AofLt REL? 4 Does she go there by bus or by train
72 XMot x2S ] i i
2 %= B 28 =MROIPL 5 Didn’t you hear something strange
U= 0= mAztol 24L?
O EMEE Y 285t
0 Won’t you study math
1 Won't he change his hairstyle
0 12 HY =85 FHATLY 2 Won’t you drink juice
ool xof o ol =Z=of .
1 fol= g o2 2SS SRl 3 Won’t Jane remember me
2 022 FY AL .
cEes= 4 Won't you take a walk after lunch
3 O Zels2 FY Adaspiqt
4 152 FY 52k2 SAE Mgl
5 Li= 2 o2Zsh 4Rt
0 A L= 282 F2 30| 0= A ME5H?
o e Kzt H=3H © XMoot 27+ H=3H B: L= 278 H23
T2 o EYsA ASHCE / I52 FY Yo ASHTLH - - _
0 152 bl Ses ASHIH. | 1SS B2 SFeki BEHT 1 A L B2t ot Ti2t 3} 50 0= 28 Cf FofsiLl?
O=Ee pje xIAM5H I=o Mab x| &5ELH
1 J=2 H—v—peol' f [mi=saipsi Leol.; % B: L%E"é*?_*ﬂﬂﬁéof
J= O of|o] Hi2A| atct / = FY ofo] HiZ2A| Leh=TFLH
2 i< olle] ti=7| sty / 2 of|2] HiEA| Loh=TLH 2 A TS TORLE OIFBHL, OFLIT 7|EFS O1ZBHLI?
YA 04 AEBSICE [ MYAes HE ABSELH
3 A i LSS / H| 2 MBS B UL Tl ol
S| O BfA| 2ietC [=176) 7(:3113“:”— t?‘EH‘E LH
4 SOIDS B S, /20l 92 B BLhs 3 A IS2 5800 2 7L, OfLIE AlZknol 2 L
B: OS2 AlZtn0|| Z 7ok
4 A ZIE AESHL AU, Of& Z71RES ARESt QUL?
B: J= RIS AREst 201
Lesson 8 @ Alternative Questions, Negative
Questions “i=io|z 2, 5oz
0 J4= ORSCH2 0440|Ck / Jl4= OFSCH2 04440X| 4LI?
p. 25 1 72 845t AEo|ct / 72 848 AYEO|X] giLl?
2 Uz AHAS g 2 Q0 / He XEAHE " 5= glu?
. 3 JS2 e Hjn=ct / 352 0fR B EX| 9L?
0 do, you, prefer 1 do, you, like
4 J= F0l| Has HUUCH / = HRo| FYs HX| 2otu?
A lecphile 8 Will, they, go, or 5 HIAIZHS TH2HA BEXIS QUECH / FAITHS THHY BHRIS 21X L7
4 Is, he, using, or 6 Li= Bmoi| 21T / L= 2ol 71X it
7 1 284S2 0FF RUYRCH / 1 28452 OFF RUSHA| AULI?
0 Isn’t she a beautiful lady
1 Isn’t Ken a brave firefighter
2 Can’t you ride a bicycle 0 A Lj= I ZHAM7I AES 9X| hL|?
3 Aren’t they so hungry B: OfL, 20f. T1= Lff Bt ZI520F,
— - L= WERF S| 9iL|?
4 Didn’t he have lunch at noon 1 A UE gX B
, . B: 8, §101. Lt= 2/S0|of
5 Doesn’t Jessica wear blue pants _
2 A s 88 Rot?
6 Didn’t you go to work B: 2 23, IUE 22 D493
7 Weren’t the dancers very famous 3 A o] LSS M| AO|X| Q4L|?
B: &, OfLIOF. 1= Sslf CH4d &0]of.
, , CZE M= K| §QUhLI?
0 Yes, |, do 1 No, |, don’t 2 No, she, can’t 4 A W= ZI7E 2R] 2Rt
. ) B: OfL], Z10{. J= 190cm10]
3 No, he, isn't 4 Yes, he,was 5 Yes, they, did M ”
5 A: IS2 OfH| XS BILEX| QERkL(?
B: OfL, BH%{0]. OS2 20| HHES Hl0d
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Lesson 9 @ Tag Questions =7c|=2=2

p. 28
0 will 1 aren’t 2 wasn’t
3 is 4 doesn’t 5 do
6 didn’t 7 can’t
0 isn’t, she 1 is, it 2 weren't, they
3 was, it 4 doesn't, he 5 does, she
6 didn’t, he 7 won’t, we 8 can, you
0® 10 2 ® 30©
4 @ 5®
0 A:is, it B:it, is
1 A: aren’t, they B: they, aren’t
2 A: weren’t, you B: we, were
3 A: did, he B: he, didn’t
4 A:can't, he B: he, can’t
5 A:won't, she B: she, will

The novel is interesting, isn’t it
The singers were so famous, weren’t they
He will notlwon’t] drive at night, will he

Jane can solve the problem, can’t she

A W M = O

You ate a hamburger for lunch, didn’t you
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5 The bakery does not[doesn’t] sell sandwiches,

does it
0 will, you 1 will, you 2 shall, we
3 shall, we 4 will, you
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FlRS0)A| =afl, 22 AHx|? is making a milkshake for her child
ZAlaf, 2 Hx|?
|
MO SESHRE, T2
MAE 2of, 3= AX|?

bought medicine for her

HILILES S AMRE 872 is showing his picture to them

A W N =2 O
o

is telling him her story

this text message to your friends

a A O N = O

gave him her phone number

o

14 23 34

Lesson 10 ® Verbs with Direct Object &
Indirect Object <01z

p. 31
0-1 My mom gave me her ring. 0-1 A0k= LIofA| XHale] BHX|S UL
V 10 DO 0-2 o] 2T HEESS MofA 2o FMlQ
0-2 Please show your driver’s license to me. 1 D= 0] AS0I 3 A2 el Ut
v DO 0 2 U7 ges dulEe?
RIEES| X|27HE Y=
1 He told the news to people here. 8 7 4= ._:rl01|7::| ml g ;M f
— e &0 Liol|A| H|2E A1 AAC]
v DO ) 4 SHLTL Lol o v
5 G th 5 5 T2{0|= 22|ofA| Qaﬂﬂ & MRS Hif UL
an you pass me the sugarx 6 1= HA20IM L7 ZHAIS AL FCH
V 10 DO
3 She lent her friend an eraser.
V.o Do 0 0lZE Liolpl S2t2 4412 Y Z9ic
4 My grandma was writing a memo to me. 1 Ofth= 2o Q222 BIS0f =L},
v DO 10 2 O nSstm o Ml XiAlel Af Mg BRiCt
5 Gray sent us a box of oranges. 3 Zl|= Holl7| Xt HlE FUch
V 10 DO 4 et WA ﬁl?*EEHJCN
6 He bought snacks for me at the rest area. 5 ©i2 J0A X5 LAFUCt
Vv DO 10 6 7oA 4XES 20 FRUL?
7 U= A0l ERE At FALCE
0 to 1 for 2 to 3 to 8 U= J07| ojni| =4S S0{RL?
4 to 5 to 6 to 7 for
8 of
0 HZ= LiollA| ATl 8 &g F=UCH
1 ZFOh= JH0IIA| 4RSS 7HMCHERICh
0 me a photo, a photo to me 2 AES Lo 22S A} =9iCH
1 her boxes, boxes for her 3 & LiofA| A% 5iLtE =yt
2 me a robot, a robot for me 4 T4 Liojl7A| 0|52 S0{=Q4CH
3 me a parcel, a parcel to me 5 | tyeS LRl0P MSS 7HEM FAC
6 IZAEI2 LE[0||A| KA A 7HS H0{ FRACE
4 my name of me, me my name
7 Hi M= XRA| GofA| F7|E 2HE0 10 QUL
5 P E.tous,usP.E.
6 us her new bag, her new bag to us
7 cookies for her daughter, her daughter cookies 0 JldE J0jA Zg AUFULCE
1 J7FHoilA| RfAle| 0|58 Zalf FRUL?
0 She passed a cup to him 2 U= JS0iIA oA E=01E 7IERL?
. ) 3 1 AE2 JollA gM & Fe B0 =1 QUCh
1 Did he tell his name to you 4 T oa(oj| ApAle] HES waoir
2 How did you teach Chinese to them 5 ZES oa|o|A T 71X ZES EiCY,
3 The boy is showing her a postcard
4 He lent us his tent
5 The police asked a few questions of us 0 A= XRIOf Ofojof|A| YA AM0|2E BHS0] =11 UL,

1 E20|2 OfH| A0 ofg Ab UL
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2 J4= Hol|7| HHAE A FRACE

3 0= a0 xHe Mz agle 20 FL?
4 Loj7 SFEXIE AdlZel?

Lesson 11 @ To-Infinitive wo=%1t

0S 10 2C 30
4 S 5C 6 O

0 to write, E&At 1 to save, 2At

2 to eat, AEA 3 To win, 2A}

4 to lose, 2A} 5 to send, YAt
6 to finish, HEAt 7 to get, A
00© 1@ 20 3 ®
0 to play 1 to send 2 todo
3 to buy 4 To change 5 to see

6 to exercise

His plan is to open his own restaurant
Eric promised to keep the secret
came here to meet you

We don’t have money to spend

To read English novels is not easy

a A O M = O

went to the hair salon to do my hair

It is exciting to watch baseball games
It is important to save energy
It is relaxing to walk in the forest

It is very hard to wake up early

d WO N = O

It is easy to answer the question

W N = O
=
S T
HE
Ir
>
M
=)
|m

042 | Answer Key

p. 34

N o o0 A ON =2 O
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4 S 58 6 C
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0 N OO oA ON = O o o h WO N = O

a A WO N =2 O

3 to lose 4 living 5 playing

0 2I3HS 9= 242 W (0| & SHLTh
6 Planning 7 costs 8 camping 1 L S20|M QE Ef= S Z0FsL|?
2 9| M2 telAh=s ME 2HEShs Z0ICh
0 taking 1 to get 2 looking 3 Ui oM Z>201E SR ARRL?
- . . 4 Li= Welists A8 AJ0fEi)
3 raining 4 cleaning 5 eating = st 2 o
5 &2 X% Fe A2 EQ5i0t
0 To read cartoons is one of my hobbies
1 Do you like sailing on the lake 0 TES B FHAQ?
2 His new interest is watching birds 1 XL AL 20l 2HRIS 3 S2H?
. 2 A gkl
3 When did you start to study French
) 3 RVt X3 = AS YHE G
4 | hate doing the laundry 4 TAl7ICH Z2
5 Washing your hands often is important

0 Drinking water is good for health
1 My dream is flying a plane
2 | continued reading a newspaper
3 avoid driving during rush hour
4 He is busy practicing for the concert C M id_Term I Final Exam )
5 Cecil doesn’t enjoy using a computer
0 opening 1 doing 2 talking
3 walking 4 waiting
10 20 3G 4@ 50 6 70
8@ 9® 10® 11 (® 123 132 14 Q
4odote 742 19| Fo|c, 151D 16 ® 17 @ 18 @ 19 ® 20 @
L4 oo} 81 Tral= HS Zolstc), 21 When 22 Eat less meat and more vegetables,
JE9| AR E258 Jst= Z{0|Ct, or your health will be worse.
20[= XHAIo| Ot0|S0f| CHsh Al ZHCE 23 Dennis read the most books in his class (A) because
o= Al O 5HA 20| & A o . .
HRE S S HEl S50l E = Al 24 higher than 25 How delicious the bread tastes!
2|=0{E 2= A2 OfFLCt
U Zgle AME M Zdolct
10
A: (5 quickly — more quickly — most quickly
02 J2|&= 20| LiofAl= o E4Ct
TEf BT ME 22 2L 29l 2©
« EOFALS LHECH 7|70 O] ACH S8A47F O LIZICH/ O E£3510) O 20
oal o] 2HE L %S ZIlA) f Pf_ FECE 7|7t O A0t/ S2A7F G LIICH o £t / o WEC)
3 - (D N
L= Al 7|2 ZABICH sf{&: (® oldest — older
Hog
Li= 0120l 43 41K gLk, e han
Lt= BZE B (X Ralct, 3@
02| ofsS Aslst= 742 x0|QIZICH « CHD2 gtofl M Z4E 7171 &2 / 71 of2l / 71 MOIQl= / 74 RIEst &
ore Li2t2 ofalists 212 E0| 20| Ert, EOIC.
LH= 7}=D} 50 4TS 70t si4: @ famousest — most famous
22 3SE Ol HEAL/ FAL A0ll= mostE 204 2 aaS BHECH
4 @
HAEs AR e Zig ST A Lh= LY BHEO| Qlof.
L= Foi A0 2He g B A0 B: @ A4 o
L2l= JHE 2= Ys =il 27[sHA| 42 Ao|ct @ 22| HYs ?Ist s 22t = A ofuf?
AT SOt A& v|7F it 3 7I&stx| of,
&= ShYAE FAsH=at bisert @ U 3|95 2k}
U7t M= g Z2UH, 22|= Sl L& Zdo|ct ® HofA g2 £ 7|s|ch
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3 542 EfLAollM 7H 2 #do|ch O HHLE MELX|LE M2ES T o2t
@ 22 FL MHREH HolFLH (@ CHE ARl 21—t a2t 121 S & Hof|A| 2IEsH| & Zolch
® 22| MFE2= A ofw? (@ MS2 ol0| 1 M3 AAXIP, EHEIE 7| == giCh
SiM: (D fast - faster @ but—and @) bigest - biggest @ How — What @ Of™IEho)| L2 %7 XtA LE= X|2 Z2ICt,
8 @ ® OfHl= HIZ} 220 eI 77IRACE
D 9| A2 chotat, siA: © rain - rainy
@ O &7 Hof2}. 22{¢ &0] A Zio|Ch 17 @
@ ?el= Yz HEs YU7| w20l X vzt £2C ® 3= BhollM 7H 7|7+ 2 AE0|CH
@ QRS o Fof2t, K| gfoH TIs "o Ao|ch @ i 70|23 = ofojoje| ZdECt Of 2T

Sofi= L ol M TH SQ35iCt @ H4ECHE 20| E 4 QUCh
84: @ Cleans —» Clean (@ or—and () so — because @ M A= OIO|2ECt O S| Zloj| SARHCY,
(® most important - the most important LU HHof| A OS2 S 71A BH0| 7FR| 2 QIL|?
9 @ siA: @ more sweeter — sweeter
@ Lh7F O & T, L= A ZHE FQUCH 18 @
@ stuot 2 i, Y0k LIS 7|CHRICH O 2 Zofet. J2{H M Ae o & 2 4 IS Aok
@ g7t stefet o, 22| 7152 288 7k @ Aoz 258 of2h. J2{H of Z1gshE ZolCt,
@ e AX M22 M ol™olL? B 49| = ofstaz 2L o OfMz2}
® L7t ol 22 i, Toll OFR = AT, @ Y LojLizt, 2R poH U=S =3 A0I0f
S D HEA @ EEAL @ TEA @ 2AZAF © EEA ® E|ZAI7} Beis] SR w20 29| 43t 90| ZLC.
10 @ 34 @ and - or
@ 2R o =2 ML} / ZE 22 ML 19 @

2= sG] i) / +Gst2] 74Xt @ MOl= 270l ZRXIZE, ofF| ol AUACE.
@ Ue 2gstn Tt / 71Ekstx| Of, @ 710l 22! = Afof= Ofx| Foil AU
@ 0 X 042 Sils HANZEECH ) O aEe A SRle BTt LU @ 710l Z2|7] Toi| Ajol= O1x| Tofl RAAUC.
® He Mg g=Ct / M8 gX| of2t ® MOl Ofd| Eofl ACIA 27 |of ZBRICH
sf4: @ What - How 20 @
10 * Abst2h AlRE2 M|ZH0llA ZHF 2 Afatolch
AE|H= EfARELCH O |26l BACE * H42] 7= HEXIet 20l §iCt.
ati&: Bl g +than - dElAE ME0| & [f SH=R0{E HiRICE
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